Good Afternoon!

Please put up your phones, take your
seats, and have out your tsunami city
homework.



Radical Functions &
Equations

A2.AREI.2* Solve simplerationaland radical equations in one variable and understand how extraneous solutions may arise.



What is a radical equation?

Examples of Radical Equations Non-Examples of Radical Equations
Jx+5=11 J5+x2=11
Jx-4=7 x-4=316

ANx-T+12=28 xV10-7+12=28

Ix =225 v =37
X = L4,




Definitions

Radical Equation: an equation where the variable is found underneath a square
root, cube root, or higher root

—

Radicand: the number or expression under a radical symbol




Radicals

(JR)=(6)™

=36

Be-6r (JX)=(-9
X =3G

36 =6 X



Example 1

\/)_C-i- ll 136 +5 =\\ v
© +5 =1l

ﬁ (6) =1l

X= 3G

—



You Try

JXx-4=7



You Try

Jx—4=7 Jan -4 =7 "
+ + | -4 =77
2 2 7=
=) -

X= 13\



Example 2: What's the difference?

<\/ _4>;(7)7 s34 = |7
-4 = 4 m:7
73 + | = v

X=5 3



You Try

\/x+6= 15



You Try

(\/x+ 6>;(15)1

XA+ G= 2D
G =&

=219

laavc =/ v

25 =5
)5 =15



Example 3

4~Jx =7+ 12 =28

1 =1
Ax-7 = 16
g =
2
(T
x-7=16
+7 7

L) Yaz-7 =287

4 e +1x=2%
HED +\V==AT
|6 + 1A =AT

2A8= A3



You Try

54/x+3-10=15



You Try

5\/x+3—/l/6=15

160 +1O

SJxe2 =25
N

(2 (a)
X+ :_%3 S

S JarF= —lo=15,"
Si>~s -lo=/=

S(5) — 10 =15
25 -1O =145

/5 = /5\/



Proof 1 with Partner

Steps Reasons

: /2x _1+5=8 Given Equation




What if our equation was...?

Jx==5 s =%

= |
D X+7 j-33§ _3%

JRAT =730




C=JT

Example 4
4 i
/S:'E- = )26 +H
- 5
(\/x 3} </2x 4) 5 -
\w—-23= +4 5 = J10
- D <
Ix-3=9
+2 +3
\«_Z,K—:Z‘-

x= -7



Example 5 (2 =T5) =(2-5)(2 -3
CEEEPES

(x/x—lzi(z-mz 2 - ar\
W —12Q = HCJ‘ ZIQWFLF

_(a =4 - 4/\)\ - 6 12 = A-f16
:L_é,: ‘-(—\)\K 2 =" ><

=
o)



You Try

AX=8=4-x



(L{/,\)_ISL: (Z’{-'\);) ("‘[ —,\)I)

You Try 4 —AJ X<
Nemel- @ W
RGN S
8=l 8 (F-< =47da

—2‘-[— §,\j\ J'_}_~:Af_f5
(é—frx?-



Cube root!

(2% )=>"
X=2 7



